BE} In Sem 32

Q5. a) Definitions - with diagram(1), 4*1=04 [5]
b) Refer Solution [5]
OR
Q6. a) Importance -01 What is required (i) electrically and (ii) mechanically to
accommodate variable speed rotor (1.5%2=03) {5]

(5]

b} Refer Solution
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Scheme of Marking

Term-I : In-Semester Examination Subject Code : Elective-1 403143

Renewable Energy Systems

Instructions: Solve total Three questions. Solve any one question from Q.1

and Q.2, Q.3 and Q.4 and Q.5 and Q.6

Given:
(1) Equation of incident angle
Cos = sin g(sin & cos + cos & cos ¥ cos wsin )

(where & —latitude, &- the declination, w- hour angle, B- slope )

(2} Equation of time correction { Minutes)
E=987sin28~-753cosB—1.5sin B
where, 8 = (n—81)(360/364)

where n 1s the day of the year

+ cos g(cos d cos @ cos £~ sin G sin y sin )+ cos & sin y sin @sin

Q1. a) Domestic hot water system —(04) Types of solar thermal collectors-(01)
b) Refer Solution

OR

Q2. a) Explain any one type of CSP.
b) Refer Solution

Q3. a) Mustrative example + Four steps involve in designing
(Assume the size of the home is 3 rooms consist of each light and fan load only)

b) Refer Solution

OR

Q4 a) Comparison 4 point —| *4

b} Reter Solution
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